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FIRST YEAR HIGHER SECONDARY SECOND TERMINAL
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Part - II1
ECONOMICS

Maximum : 80 Scores
Time : 22 Hours

Cool-off Time : 15 Minutes
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@eneral Instructions to Candidates :

* There is a ‘Cool off time’ of 15 minutes in addition to the writing time.

» Use ‘cool off time’to get familiar with questions and to plan your answers.
* Read questions carefully before answering.

* Calculations, figures and graphs should be shown in the answer sheet itself.
* Malayalam version of the questions is also provided.

* Give equations wherever necessary.

* Electronic devices except non programmable calculators are not allowed in the.
Examination Hall.
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Answer any ten questions from 1 to 12. Each carries 1 score.

1. Find the odd one.
a) Investment in education
b) On job training
¢) Construction of Dams

d) Migration

2. The apex body of Indian rural financing system
a) Commercial banks
b) NABARD
¢) Cooperatives

d) Self Help Groups

3. Fixing of maximum size of land one can hold is called
a) Land reforms
b) Land ceiling
c) Land ownership

d) None

4. Economic growth with own resources
a) Equity
b) Self-reliance
¢) Modermisation

d) None
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1 qyoad 12 cuenw)gg e aneywegied agemeleyo 10 agspaviia’ pamoo ag)w)m)e.
1 eapod aflano. (10x1=10)

1. Qe ReowEY H66MBE1)e:.
a) aflapeipa casueidioal ilesalo
b) emo¥led audicdlaimo
c) awodfled afldanoemo
d) #ydlewgo
2. moaemdleal alodiatd allmeem mlememanion ograio SM® qundalo.
a) QUoAAIRY N0
b) mentodauy

C) MADBO6M MOIaIMEIBRD

d) av@o Mano® MoaeIsERK

3. 80088 OO0 UM aleadaul gdiaes aluziwo.
a) @laldlaiennemo
b) @aidiull afldgpao
C) B)lwIeOs HSHAVNIIH:0M0

d) scu emmyo @wgy

4. qumo aflealaB®d §aleIUilayes MMmIGQNINOWLS QIgd.al.
a) oRY®
b) quwo aivRa®
¢) @pwiilecuddenosmo
d) sncu emyo @wgy
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5. Find the true statement about India’s foreign trade during the British period.

a) India was an exporter of Primary products
b) An importer of finished consumer goods

c¢) Britain maintained monopoly over export and import

d) All are correct

6. Another name of World Bank
a) IMF
b) IBRD
c) NABARD
d) Reserve Bank

7. What you can infer from the two statements given below ?
i. In pre-independent India, Dadabhai Naoroji was the first to discuss the concept of a

Poverty Line.
ii. Jail cost of living is associated with Dadabhai Naoroji.

a) Statement i is correct
b) Statement ii is correct
c) Both statements are correct

d) Both statements are incorrect

8. The most common measure of central tendency is

9. An investigator classified data on the basis of year, month and week. It is
a) Chronological classification
b) Spatial classification
¢) Quantitative classification

d) Qualitative classification
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a) IMF
b) IBRD
¢) NABARD
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10. The value of mode can be located by using
a) Ogive
b) Histogram
¢) Pie diagram

d) Frequency polygon

11. The pre-testing of the questionnaire is called
a) Sample survey
b) Pilot survey
¢) Mailing questionnaire
d) Census method
12. Sampling errors can be minimised by
a) By taking large sample
b) By taking small sample
c) Both are correct

d) None of the above

Answer any five questions from 13 to 18. Each carries 2 scores.

13. List any two merits of the introduction of railway in the British period.

14. Write any two benefits of organic farming.
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10. eniaoeieamiio aelie el lisleacdd a lcwoulenma
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b) adflegowoo
C) 66al WWo

d) ey enanieigeo
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C) canapael @rw oy Mmdexs
d) emuddmoary def
12. momigloss’ oo eyogamaiioy
a) BS)O@ MIMAgIe:R ag)Sieanemo
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15. Some liberalization measures introduced in India in 1990 are given in A. Match them

with concerned sectors in B.

A B
a) Devaluation of currency 1. Industrial sector
b) Establishment of private sector banks | 2. Tax
¢) Changes in fiscal policy 3. Financial sector
d) Controls on price fixation 4. Foreign exchange

- 16. Identify the two categories of poor from the two figures given.

Poverty line }— — — — — — — —

17. Write any four qualities of a good questionnaire.
18. Distinguish between class limits and class interval.

Answer any six questions from 19 to 25. Each carries 3 scores. (6%3=18)

19. List any three uses of statistics in economics.

20. The marks secured by 35 students in a class test for economics are given below. Prepare
a frequency array.
18, 9, 4, 8, 15, 20, 7, 9, 18, 10, 4, 18, 20, 15, 7, 15, 4, 9, 4, 8, 10, 18, 7,
10, 18, 9, 15,10, 9, 15, 9, 7, 8, 15, 18

FY 1035 Economics 8/16



...... e v vt V0L QUORE A |||| ““

Score

15. epomyoidd 1990 msqflenesio aliel HERAIRILEEM MSaislext e@og0 A Widd mddelaidenmm.
@l B oo saaeie:aool swoslioflens:.

A B
a) HOMMIYOS aelio SROWED 1. ayaimow eaaues
b) qupe:00y enIosEYBAES uNda Mo 2. afleymi
C) WMn MW @ogo 3. wme:ony sasual

d) alamridepocsidd oas domeno 4. aflean alofiawo

16. @oere madeIiges e alimemedd aflomie, eenaimo adie alleomsmeg @ldlaciaye:.
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19 ayodd 25 cuenwag eanc)Rgld agemsilale 6 ageRETIM pEME ag)Pim)e:.
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19. avomIEie: LOMPEDIIE VO B0 OIAINEBS aREMEBIIRY0 MY HaICWOIWETBHD BYIOOILE]H:.

20. aqvomMIETHle: LOIRETIeR 6@ &) aldleuaid 35 allepdmde:® emSiw adeMH®B 2y0Ies
MRS BLNM. B} AR (O HPOOILN)H:.

18, 9, 4, 8, 15, 20, 7, 9, 18, 10, 4, 18, 20, 15, 7, 15, 4, 9, 4, 8, 10, 18, 7,
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21. Differentiate between exclusive and inclusive class. Write an example for inclusive clagg

22. a) Define Arithmetic Mean.
b) Write the interesting property of AM.

c) Find the value of Mean.
Marks — 10, 22, 40, 58, 42, 72

23. List the major problems which the fishing community faces today in India.

24. Comment on the following demographic indicators during the British India.

~ a) Infant mortality rate
b) Life expectancy
c) Public health.

25. Examine the benefits of Green Revolution brought to the Indian Economy.

Answer any four questi;ns from 26 to 30. Each carries 4 scores. (4x4~16)
26. List the functional parts of a table.
27. a) What is a continuous variable ?
b) Find the following in the given frequency distribution.

Class Frequency | Lower limit | Class mark | Class interval
0-10 5
10-20 18
20-40 22
40 - 50 8
50 - 80 2
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21. elanend deloiepss oo, 9e.a1dsem dailuiayes goqge @aflepss almPao ag) mid:.
9RBe.21de0M Aelaieyss ORI 8@} HEIOEMO agf) 3.

22. a) qv@oame mowyo MdQL2 B},
b) cvaorme aowieEied EME:ER0D MAIEUAU® ag)SImid:.

C) VRO MIWIe BeNElaliSlBe)de:.
addeeyed — 10, 22, 40, 58, 42, 72

23. pomyies) nojomolangle:nd eenafadieniam @lwm IR G:eamBmm)e:.

24. omileal Eniiglad @EEMB:ILIO@D ®6Y MWBLIVISES LBMIVOEL0IODOW H:00TBOS SyGlaf
- @&l (aIOWo CRELOQSIEIE:.

a) uluoy aeem lese
b) epwdeecdealo

C) ©aloERRMICRIN 0

25, spomy@ avrudalImoEi@ aodl® aflgjalo 06NN UREMEIRGD al@leuroUsleends.

26 qyoad 30 ueew)as aaeytesicd agemelege 4 gAY SEYIXo agys)m)e.

4 eopod aliao. (4x4=16)
26. &0} AIS)eROS [ IWIM BIWNETBRD ag)FLENSs.
27. a) qomm 2100 ag)MIm ag)y ?
b) marilgies eyEm clmeemedicd @iay eeIs)ewigiesc ®-amsiallslens.
RO @RO\OY] @96m aldluil £ 2ode6 KO0 seug
0-10 5
10-20 18
20-40 22
40-50 8
50 - 80
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28. What were the main causes of India’s agricultural stagnation during the colonial period ?

29. a) Examine the main goals of Indian planning.

b) Name the newly formed institution in place of Planning Commission of India.

30. What is outsourcing ? List the factors which made India a destination for global outsourcing
during the post reform period.

Answer any two questions from 31 to 33. Each carries 5 scores. (2x5=10)

31. Construct a pie chart for the following monthly expenditure of a family.

No. Items Expenditure (in Rs.)
1 [Food 9500.00
2 | Clothing 3000.00
3 | Fuel and electricity 2850.00
4 |Recreation 690.00
5 |Miscellaneous 2900.00

32. Discuss the various measures initiated by the Government for improving the agricultural
market systems in India.

33. Comment on the present position of India in the following aspects.
a) Education for all
b) Gender equity

c) Higher education.
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28. 3£:081 BEEMB:0RIET HANYD B:0dale: casueiwioa QeSlaflmes #:006memad ag)amgldo
epefieyamy ?

29. a) M ieal aleRIUBAVE aJALEIGRINS (AWM LB ITBRD ol ?

b) anyWI@ @YVY@mEM B:amlauef CUOdMEDIANT al@ll@ qmuadaimo aR® ?

30. agymoen ‘alj0o alemlenod ’ ? aldladenrem@EilmErauamas #:0aieeigeil@d aliOo ©00d alend
QIS B} BREUIOR GAHMBAIW] MY AOOIMEBES BHOAEMETBUD BEENBETR:.

31 oy 33 cuenwes e nayTREIE agemsleye 2 agERAOTTITT 9QEMRO ag)R)m)e:.
5 eapod allmo. (2x5=10)

31. ea oysioenIEDON (Elaom ealeiald CRales B0} OOAID®IMO QUOEYE:.

Momud €ntho eaein] (o)ataiad)
1 | @@anomo 9500.00
2 | cugo 3000.00
3 | sprwmape eeusymioe 2850.00
4 |[aflemoso 690.00
5 |aeiuses 2900.00

32. pmyeilesl ©:0dale: Qllatsmmo 62.2J6a S;EMOMINS MALHID HeB:a@:06m flafiw msaigle:@

aflvoEle-@lees.

33. @o6¥aloWM B:00)TBEE MHTMIWOS DGAOPOE @RI QYBMDIBE}D:.
a) agudenio alleeomo
b) @f-ayeley wamp

¢) emm aflgypesao
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Answer any two questions from 34 to 36. Each carries 8 scores. (2x8=16)

34. a) Draw less than and more than ogives for the following marks secured by the students

in a class for Economics.

Marks No. of Students
0-10 05
1020 04

20-30 06

30-40 04

40 - 50 10

50-60 11

60—-70 06

70 — 80 04

b) Find the value of Median graphically.

35. “The Government’s approach to poverty reduction was of three dimensions”. Explain.

36. Calculate Median and Mode from the following heights of 500 plants in a garden.

}gﬁ;‘t 1-9/10-19[20-29|30-39{40-49 5059|6069 | 70 - 79
No. of 78 52 83 147 98 77 9 6
Plants
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34 qyoad 36 Auenw)ag eancyrglad agemeleyo 2 agepEMTinT 9GO ag)L)m)e:.
8 aapod allao. (2x8=16)
34. a) mamiaile: woREDIM &M KOqleal Bygle:Bes eidl.e) aodene:Ela aflmio @mercanem,
@RAUBMIANEM MVETRAMIUYOYT CLI(BETBED LIRS,

@oBH6) ySle:8168 ag)epe
0-10 05
10 — 20 04
20 - 30 06
30— 40 04
40 - 50 10
50 - 60 11
60 — 70 06
70 — 80 04

b) 2fi@o galeouila] awioss: agelio Henaiefidleas.
35. “aq @oa madlamnacen codle) Midmsdeememic qdenod avlle-dlaldleanma’”.
QflvoBmOBEH:.

36. a@) ayemmogariiea 500 e.21Sle:a1es dWEBE alomie AWREAYE MiaOILIB:O0

BNz} flSlee) .

o@wo (oav.al.) |1-9(10-19)20-29(30-39{40-49(50~59 (60—-69 |70—-79

OaVIETBROS | Hg 52 83 147 98 77 9 6
ag)eRe
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